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23 ﬁf&ﬂj\ﬁﬂﬁfi%jiﬁifiﬁi$% (reducing sugar) FUl[REETEE 2
(4) Blight and Dyer’s test (B) Fehling’s test © Tollen’s test (D) Benedict’s test
24 N[l gﬁzﬁl Biotin [=EL{F|TH ?
(A) Malate — Oxaloacetate (B) Methylmalonyl CoA — Succinyl CoA
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25 IR i P VTR T 2
(A) Eastern blotting (B) Western blotting (© Southern blotting (D) Northern blotting
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(A) Glucose 6-phosphate dehydrogenase 7! Pyruvate dehydrogenase
(B) Alcohol dehydrogenase #{! Creatine kinase
(©) Aspartate aminotransferase 7! Alanine aminotransferase
(D Xanthine oxidase 7! Glutathione peroxidase
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PR A S PR 7

(ALTA, BPGI; ©PGE, DTXA,

= BRI S - P [ 2

(A)Cytochrome a — Cytochrome az (B)ICytochrome ¢ — Cytochrome a

(©)Cytochrome ¢, — Cytochrome ¢ (D)Cytochrome b — Cytochrome ¢,

IR 1V F’—‘[E‘}IH?EHH = hydroxylation 3:%;! PR ESR ?

(A)EfrfE" (B) ph e (GFEEI= e DRES & K

F'1 Propionyl CoA — Succinyl CoA 3={E;W 7= (cofactor) ?

(A) Thiamin pyrophosphate (B) Pyridoxal phosphate

(© Methylcobalamin (D) Flavin adenine dinucleotide
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M F PEAZT Lactase 75 %% glucose = galactose
B)FPEE 73 Al MR AT - T | PR PR E R PR S I 1O A S0
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(A) Chylomicrons (B) Very low density lipoprotein
(© Low density lipoprotein (D) High density lipoprotein
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o SN T = I iiF 5% Linoleic acid ?
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NP ERL R E S PEETETE . (Gluconeogenesis ) E"??TF'U???& ?
W§EYF G (Transaminase )
BV TR | %2357 ( Phosphoenolpyruvate carboxykinase )
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